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1. RXOMICFEARES 2 ANT, fHE SN 2RO HELBEILTRD L. 2L, broaunboicid IR LR
Ixy &FEF. (S22, Atk37r, Bifk4720%, C#677)

(1) DE:BC=1:3. (2) BC:DE=8:5.
A A
D E
D E
B C B C
AD: AB AE:BC
AD : DB AE: AC
AD : AE DE : AE
AE: EC BD : AD
(3) DE=12,BC=15. (1) BC:l,DE:%.
C C
E B
E
D
A D B A
AB: AC AD: AE
AE : EC DE : EC
DB : EC AE:BD
BD:BA CE:EA
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2. ROKIZ FAELS 2 ANT, fHES N2 RO LB TRD K. 27210, brokndnicid ™) L
Xy e&EG. (SHh2, A3, Bik47208, C#k67)

(1) DE:BC=1:4. (2) BC:DE=15:9.

A A

AN

D E
B C B C
DE : BA DE : AB
DA : DC AD : AB
DA : DB AE : EC
EA : EC AD : BC
(3) DE=25,BC=45. (4) BC:%WDE:%.
C B
D
E
C
E
A D B A
DA : AB AD : AC
AB: BC BD : BA
DB : DE AE : ED
AE : EC CE: EA
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RETZA L otk =ZAFOHEM LEEE 02 MEERESR

1. RXOMICFEARES 2 ANT, fHE SN 2RO HELBEILTRD L. 2L, broaunboicid IR LR
Ixy &FEF. (S22, Atk37r, Bifk4720%, C#677)

(1) DE:BC=1:3. (2) BC:DE=8:5.

A

AD:AB = 1:3 AE: BC AEH
AD:DB = 1:2 AE:AC = 5:8
AD: AE AEH DE : AE ABEH
AE:EC = 1:2 BD:AD = 3:5

(3 DE=12,BC=15.
= DE:BC=4:5.

AB: AC HH

AE:EC = 4:1 AD: AE <BEH
DB : EC AEH DE : EC Nz
BD:BA = 1:5 AE : BD <BH

CE:EA = 5:6
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2. ROMIZ FEARLS 2 ANT, HHESNLMO L RDMHLBEHEHLTRD L. 2L, bhrokndoidld M) LR
Xy e&EG. (SHh2, A3, Bik47208, C#k67)

(1) DE:BC=1:4. (2) BC:DE=15:9. = DE:BC=3:5.

DE : BA ABH DE: AB AHH
DA :DC AHH AD:AB = :

DA:DB = 1:3 AE:EC = 3:2
EA:EC = 1:3 AD : BC AHH

(3 DE=25,BC=45.
= DE:BC=25:45=5:9.

DA:AB = 5:9

AB : BC PN AD: AC N

DB : DE EH BD:BA = 1:10

AE:EC = 5:4 AE:ED Oz
CE:EA = 1:9
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